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Law of Sines/Cosines Review Date Period
Find each measurement indicated.
1) Find 2B SinB = sinC 2) Find 2B SinB = sinC,
, b c - C
¢ . : "= O C K
A b SInB = Sin88 b SinB = Sint2
8 a0f 60 Lf.l 25 cm QS T
(’_.Lr“%!nB 806”\%}8
’ JLC}‘ft Ll - B 37 cm A ‘B?SlhB“ 265‘P‘<_5’L
= 3 37 :
SmB=0.73)3 ‘
B= sin(0.1313) SINB=0.66491
B= 47° B= 006

B= 42’



Day 4 - Solutions to Law of Sines-Cosines Review.notebook March 26, 2019

L B g e
3) Find «C cogs C= 9__’"—&-51—#(‘;? 4) Find ~C cas C Q _.fb‘,,.L
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6) Find b
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: b= a?+c’-2accos B
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b= 23104 +5476-224.9 (0562

b? 2%5. % ¥+ 126.4500

o= 412.25
b= {«412.25
b= 203
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9) £C=28° sA=12°c=27cm
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10) b=13km, a=21km, ¢=29 km )
29 /]
Cos A= b +c* -a” /2

. |

" 2bc A 13
cos A=(13Y+QA=21)?
2.013)(29)
169 + 84 |~ 54|
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Cos A= O 546
A= 41°
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CosS A=
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cos B= (21)3 +(~2C‘)"”3i_
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=44 |+ g84i-106
cosB=41l AL R——
cosB= W3
12,18
cos B= 0.913%
B=24°
(@) «C= 1804124

2C= 08"
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